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Quiz I
Problem I (Multiple choice questions)
For each of the following questions, choose the single right answer.
1. Which of the following is true about binding?
a. Late binding is more efficient in terms of running time than early binding
b. Dynamic binding is less efficient in terms of running time than compile-time binding
c. Run-time binding is less efficient than late binding 
d. None of the above
2. Suppose that Philosopher implements the interface Speaker, which contains a single method called speak. Which of the following is a valid declaration and initialization?
a. Speaker s = new Philosopher();
b. Philosopher s = new Speaker();
c. None of the above
d. All of the above
3. Let Dog be a subclass of the Animal class, and suppose that Dog has a method called bark(). Consider the following code
Animal spot = new Dog();

spot.bark();

Which of the following is true?
a. This code will result in a compile-time error
b. This code will result in a run-time error
c. The bark method defined in the Dog class will be called
d. The bark method will not be called at all
4. Which of the following interface should be implemented by an object that waits for an event to occur before responding in some way?
a. Timer
b. Listener
c. ActionListener
d. None of the above
5. Which of the following classes implement the CharSequence interface?
a. StringBuilder
b. String
c. All of the above
d. None of the above
Problem II (True or False)

6. XML documents are very difficult to process. This is one of the reasons why JSON was developed. 
Answer:     True       False

7. The following represents an invalid XML tag: 
<myXML>I Know XML!</MyXML>
Answer:     True       False

8. A JSON object is delimited by opening and closing square brackets.
Answer:     True       False
9. To get the size of a JSONArray, the method named length() should be used.
Answer:     True       False
10. When creating an XML document, developers must use a set of predefined tags.
Answer:     True       False
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